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SECOND SEMESTER (SCHEME-2012)
MODERN OFFICE MANAGEMENT
ELEMENT OF STATISTICS

Time : Three Hours Maximum Marks : 70

Note : i) Attempt Orne question from each unit.

U® SHTS W U W &1 IR SHoru)
i) All Questions carry equal marks.
wft et & 3 wHE 21

1ii) In case of any doubt or dispute, the English
version question should be treated as final.

fdt oft PR & Weg et fRare & Ry
H 3RS uTeT & "9T &1 3ifaw wFT SR

UNIT - I (3%13-1)

Define statistics and explain its functions and
importance. 14

Aifky$H & aRwifia HIR ik 395 &l T
HEd P FHFTSCI

155
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2)

Or/#Ygar

Distinguish between primary and secondary data.

mafde g fdaes duei & 9 wHEEd]

UNIT - 11 (3&713-11)

. Calculate mean median and mode from the frequency

distribution: 14

=1 gy de7 A Hedp, HegdT qUT dgad ol
IR

Class Frequency
i smgfiy
0-5 3
5-10 4
10-15 6
15-20 12
20-25 0
25-30 14
30-35 6
35-40 S sg N4
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3)

Or/31a4r

What is statistical average? What are the desirable
properties for an average to process?

AIEIHIT J1eT | 3T T A9 27 UP A8y o
B B9 0T @R TR

UNIT - I (3&1E-111)

. Calculate of mean deviation about arithmetic mean

of the following series: 14
=1 & SR W IR A1 W A1 e s
$Hiod |
Class (&f) 0-5 5-10 10-15 15-20 20-25
Frequency 3 5 12 6 4
(smgfr)

Or/31@ar
Find out which of the following two series has greater
variation:
siTa HIforg & 71 31 aftr & 3 fas Aioft o fammor
3t &:
Series A (#0ft A)  Series B (3r0ft B)

180 25

185 26

190 40 [SF r—
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(4)

178 32
184 45
200 16
193 19
182 37

UNIT -1V (3aTE-1V)

4. From the following data construct price index number

for 2000 taking 1990 as base using fisher's index
number method. 14

=1 wuel ¥ fher Eaie gRT 1990 & STUR

TR 2000 & HIHT JaBS F1d BT
Commodity year 1990 year 2000
&q G| ay
Price | Quantity | Price | Quantity
T | AT | g HTAT
A 20 8 40 6
B 50 10 60 5
C 40 15 50 15
D 20 20 20 25
(5% -
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(5)

Or/3reEar

Calculate the correlation between the height of father
and height of son from the give data.

et wael & e it onars g g3 & T & d
Weay uRafera HIfoT:

Father's Height: Son's Height
(e &t 7)) (g3 F &)
65 67
66 68
67 64
67 68
68 72
69 70
71 69
73 70
UNIT -V (331E-V)

. Write a short notes on the following: 14
fA=ferRaa v wfém fRogoft frRav:

a) Pie diagram (g1 @)
b) Bar diagram (2vs fa=)

[59
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(6)

Or/3ar
Represent the following data by pie diagram,

f=fafaa siiesi @1 ud T grr wefdfa Hivr

[tems Expenditure (in %)
(%) (cra &. )
Food (¥I<) 180
Clothing (F9ST) 70

Rent (f=mar) 80
Education (faram) 24
Litigation (q@eHarsil) 80

Fuel (349) 120

Miscellaneous (fafaer) 46
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